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1. Error G-source glyph of U+3B9D
The current G-source glyph of U+3B9D is error:
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be treated as an unencoded ideograph, should be encoded in the future("H 7 page
765,number 23):

T |
&H E ., I(EETE).

2. Disunification of U+228C1
According to ISO/IEC 10646 Annex S.1.4.2, Different relative positions of components should not
be unified:



ISO/IEC 10646:2014 (E)

§1.42 Different relative positions of components

The examples below illustrate rule b). Although the two ideographs in each pair have the same number of
components, the relative positions of the components are different.
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The T source and H-source of U+228C1 have different relative positions of components, but they
are encoded at one code point:

J[» 6113 J I‘._:"\ -’t.:}‘ Jl.lﬁ
UCS2003 TF-5A27 H-FCAR

According to ISO/IEC 10646,they should be encoded separately, so | suggest to disunify U+228C1
and give a new code point of T-source(TF-5A27).

(End of document)
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The G-source Glyph for U+8669 may be in error:
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The same left hand component is also found in characters such as Ig/%
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The Unification of u53FD G-source and T-source is likely in error.
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Radical for U+266B9 should be moon, instead of meat.
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According to the evidence, the two should be separated.
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1. Error G-source glyph of U+3B9D
The current G-source glyph of U+3B9D is error:
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Agree. But changing the resource of %‘p to Kangxi Zidian(FEER7-4iL): 0542.081.

The T source and H-source of U+228C1 have different relative positions of components, but they

are encoded at one code point:
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According to ISO/IEC 10646,they should be encoded separately, so | suggest to disunify U+228C1

and give a new code point of T-source(TF-5A27).

Agree.

Title: Design for 4E (giul) component

The right hand side for X (¥&, H8, f%, 5k, 1%, 1, 36, 38, 5, &) and the like have always been thought to be
4. However, recent oracle bone script studies indicate that the right hand side is not a turtle but likely locusts
instead.

Encode g-ﬁ: as a new character. And % unifies to §JE‘

The author of this book (/Fscwiy e1783 : & 8, WullEe 5k, 1989 glso writes

(U+9F9C, tortoise) likes ﬁ

Comparing with4 as the transcription of % , % should be transcripted to % but not



gE». X is the normal writing but E not.
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In fact, % has been transcripted to by Tang Lan (F§Ef) who firstly pointed that
-
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ﬂ' means autumn(FK) in 1934.
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Furthermore, is written as gE which is the part of HAST4F ﬁ"%} in clerical

script(Li style, 2. gE is coded as gﬁ (U+258E8) which is form Kangxi Zidian
(FREE L)
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ﬂ?‘ -Iﬁ X is the normal writing but a not.

And 4 also is written as % ﬁ -g% in clerical script(Li style, 55).
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In the modern pronunciation system, 4 pronounces giti and K pronounces giii. Both of

them pronounce giu. But their pronunciations are different in the ancient pronunciation



system.

Qll:l (ﬁﬁ)ﬁ@w,:‘fzﬁaoﬂgﬁo The initial is g.
qid (BEER) tHIYD, FIIE BB o The initial is 15

Generally speaking, a word pronounced g cannot pronounce zs ‘. Although many contrary
examples can be found, these contrary examples are very credible. But there is no other
evidence to prove that HE can pronounce s ‘ as FX.
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In my opinion, &E is just form 2-25 which is the variant of ], but not form /.

Some researchers should usedE(U+2A4D4) as the transcription of % Sometimes, the
distinction between i and HE is not very obvious. For example, $E=4&.
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Y= ) also is coded as & (U+25920) and & (U+2A501) .

For more example, [F(U+211A5) is the variant with [A(U+56DA, prison) and also is the

transcription of ﬂ B(disaster or WOorty).
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